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2M: DED
ZH: (DS N L DSOF ASHDSLSE/HEDS - 22SIIE
o9l IEDE 2 249H WEX (ci9): @2
SA - ZE - BRA(H) - NRAR - BES ofl et e HImE2
03 A=A PR FZ| 2,700 2,700 0
Oolisus 20t 33 2t53 5 =4
2,700,000 *14] 2,700
207 ARl 250,000 240,000 10,000
01 H1EHI 250,000 240,000 10,000
OAUBIA Z&RHA JHE 89
250,000,000 x 14 250,000
M 24X 10,383,299 10,565,499 /182,200
307 @i2to| & 10,383,299 10,565,499 /182,200
09 2FHHEXS 10,383,299 10,565,499 182,200
OAlUHA R &5 23 N3
3,666, 140,000 x14] 3,666,140
OAlLIHA SIHE &0l 23 X&A2
747,767,0003 x14] 747,767
OFaxY 1008 HA 23 X&=
4,047,486,0002 14! 4,047,486
OMaHHA 2dHIE XIS
1,000, 0002 x38CH* 122 456,000
Obl#ld SHHIE N2
785,671,000 x14] 785,671
O MXIS HA 288 XAS(RE2, &
®3, M=) 150,000,000 *14] 150,000
Ouste =g Na=
390,235,000 *14] 390,235
OLED = HoHHE FXEH| XE=
40,000,000 * 14 40,000
OAILHHA &R AHIAEDE QIHIEIE X1
= 25,000, 000& *42] 100,000
HEdl uses A 1,439,500 1,439,000 500
201 et 3| 5,500 11,000 5,500
01 AtR2te|bl 5,500 11,000 A5,500
OusS=RItE MAH|
5,500& *1,00004 5,500
307 elztol & 1,434,000 1,428,000 6,000
09 2+ AHAE2LS 1,434,000 1,428,000 6,000
onzd fEHA WSt NEs
1,434,000,000& * 14 1,434,000
AMUHA THEXIZ S 7,516,782 7,516,782 0
s 1,872,391
Al 5,644,391
307 @12t0| & 7,516,782 7,516,782 0
& 1,872,391
Al 5,644,391
QO 2=FAHEXS 7,516,782 7,516,782 0
OAILIHA HEXIHZ
7,516,782,000& x14] 7,516,782




2N s
B (SDS MY L DSON YSHDELSR/HERE - 2RSIIEH
o9l IEDE 2 249H WEX (ci9): @2
SA - B - O9(3H) - HSEAIY - BES Ofl ab ot e HlmE2
T 1,872,391
Al 5,644,391
AUHA HX-E K& 1,612,607 1,612,607 0
Ay 400,000
Al 1,212,607
307 212+01 A 1,612,607 1,612,607 0
= 400,000
Al 1,212,607
09 2+HEXZ 1,612,607 1,612,607 0
OAUHA 8Xld 2d X3
1,612,607,000 3 14| 1,612,607
= 400,000
Al 1,212,607
MattA el X3 920,000 1,656,000 AT736,000
= 460,000
& 230,000
Al 230,000
402 QI K201 ™ 920,000 1,656,000 AT736,000
= 460,000
& 230,000
Al 230,000
02 QIZEXH2AIZ 22 (01 TH &) 920,000 1,656,000 AT736,000
OMaHA 22l RI&
920,000,000 14 920,000
= 460,000
& 230,000
Al 230,000
CAE nEIRU(S3E HA) XA 830,331 830,331 0
= 270,000
Al 560,331
307 2I2+01 ™ 830,331 830,331 0
ax 270,000
Al 560,331
09 2:AAHEEXZ 830,331 830,331 0
OSAE nERY (338 HA) XA
830,331,000 *14] 830,331
= 270,000
Al 560,331
BAl2=SH 2 X3 650,013 446,645 203,368
307 212+01™ 630,000 428,500 201,500
L 2 HEXS 630,000 428,500 201,500
OEARz IEZMN =2 L = K&
630,000,000 14 630,000
308 AHXIHMSOIH 17,013 15,145 1,868




M WSt
B (SDS MY L DSON YSHDELSR/HERE - 2RSIIEH
o9l IEDE 2 249H WEX (ci9): @2
SA - ZE - BRA(20) - IRA - B ofl et e HImE2
183 SIS B XA AIE 17,013 15,145 1,868
OHYAl 2SI E el AIAE 24|
17,013,000 * 14| 17,013
401 AlEHIZL S0 3,000 3,000
01 Al&HI 3,000 3,000
OSAl ST& AEE B2
3,000,000 %14 3,000
BISX Al 29 600,000 565,392 34,608
=S 180,000
Al 420,000
307 @120l & 600,000 565,392 34,608
== 180,000
Al 420,000
09 2+AEX 600,000 565,392 34,608
OHIZEHOl REAX HISH A 2% X2
600,000,000 * 14 600,000
= 180,000
Al 420,000
WSSFA EHA 2EH| N 3,182,253 3,326,906 N144,653
307 @i2to| & 3,182,253 3,326,906 N144,653
05 212+ =S 3,182,253 3,326,906 144,653
OuSefA OISA2HEH A 29
3,182,253,000& x14] 3,182,253
S3E SAI(1002 BAl) 29 467,345 419,436 47,909
= 45,000
S 13,500
Al 408,845
201 et 3| 5,400 3,600 1,800
01 Al 22| 5,400 3,600 1,800
OZZE SAI(1002 BHAI) FHE AIAE AIR
= 450,000 <123 5,400
307 elztol & 461,945 415,836 46,109
= 45,000
== 13,500
Al 403,445
09 2==HHEXS 461,945 415,836 46,109
O3 3E HAI(1002 Al 2] X1
461,944,800 * 14 461,945
= 45,000
== 13,500
Al 403,445
N2 BHolS AdEtd eIMEIE 114,898 111,650 3,248
= 12,150
== 30,489
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FA: NS
HH: (H=E XY L WEHH USHWELYEF/UHEWE - SFSIIE
ol oMM WEEd T4 CEEED
SN - FH . C(3) - MSAY - BAS Ofl bt e MimE=t)
O2SAHAF Hel & SHAIE &K
1,800,000,000& *0.36/100 6,480
WEMAIE &5 L 2| 5,866,840 6,168,561 A301,721
& 45,243
Al 5,821,597
EH Ns8 nNEAAE 25 29 2,296,840 2,203,286 93,554
& 45,243
Al 2,251,597
201 B2 AH| 2,267,010 2,106,756 160,254
& 45,243
Al 2,221,767
01 AtR2t2|bl 732,962 572,708 160,254
OgetgH| 4,550
ocNEHEHNH 2H =28 2
250,000 +8& 2,000
o|TSEXl =82 48 H&
100,000 +8& 800
CDEXDHE AsA 2H2E 19
150,000 +8& 1,200
o NEQCHMAIEE MI|&H| QHEMEA £
= 40,550,000 =14l 40,550
Oze| 29| 683,412
oE& BIS &I X2
38,412,000 x 14! 38,412
oXNsEWsEHAH(ITS) KB4
650,000,000 14! 650,000
02 S32ZH| 1,534,048 1,534,048 0
OZ2222 ¢ HAl 1,429,548
ocnNEANSE MIIE
21,024,000& x 128 252,288
o|TSAIEE &)=
17,630,000& 12 211,560
oXsEWEMA HHEEH|(Z2I1) AI22
2,423,000 122 29,076
OHAABAIAE MEIN StZ
40,134,000& x 128 481,608
CUWENSH 2L SMlz
11,988,000& 12 143,856
<o|TS 29 CCIV Shlz
10,849,000 x 12& 130, 188
oHHAEFA 2A0|II0| ESXE
15,081,000& * 12& 180,972
c 45,243
Al 135,729
OAIE &R AIB] 104,500
o XIsE WS HAH(ITS) S22l
100,000,000 * 14! 100,000




=k DS
M EzusS X L WSO AN WUSLEF/UEsNE - SFSIIHY)
Bl NSCHEAIL &5 & 2ie) (S &)
SA - B - O9(3H) - HSEAIY - BES Ofl ab ot e HlmE2
cNSHBHEH AEZS FH|
4,500,000 * 14| 4,500
206 =8l 11,680 6,000 5,680
01 M=l 11,680 6,000 5,680
QusdZE BT 22
1,500,000 *14] 1,500
OXt&ZBXI| B=XH 2L
1,000,000 * 14! 1,000
OCCTV =Xt 2 1,500,000 *14] 1,500
OHAZBAIAE BETT 2
7,680,000& x 14! 7,680
405 Xt S| 18,150 90,530 AT2,380
01 AL =ZFSHI 18,150 90,530 AT72,380
OQuUSEEHH &AA UPS SE X WA
18,150,000 & * 14! 18,150
WSS AAE A= 450,000 550,000 100,000
401 A& HILS0HY| 450,000 550,000 100,000
01 AlEHI 446,400 545,860 299,460
OusasI|l &x1 & Mo
250,000,000&%99.28/100 248,200
OEHEE E2)| &X
100,000,000 *99.1/100 99,100
Ottgd Bdidlss EXEX FOHEX
100,000,000&%99.1/100 99,100
03 Al CHYI 3,600 4,140 2540
OunsasI| &x1 & Mo
250,000,000&*0.72/100 1,800
OalHEE §2)| &Xl
100,000, 000&*0.9/100 900
Ottgd Bdidlss EXEX FOHEX
100,000, 000&+0.9/100 900
nNSAS AIAE X2 450,000 460,000 A10,000
206 =6l 50,000 50,000 0
01 =Yl 50,000 50,000 0
QuUSNSHONI| 5K 2L
28,000,000 & 14| 28,000
oSS BXEX A7
22,000,000 3 14| 22,000
401 A& HILS0HY| 400,000 410,000 A10,000
01 AlEHI 397,300 408,020 210,720
Qusksl| KX B4
300,000,000 *99.28/100 297,840
ONSMEHE A
40,000,000 *14] 40,000
OL& AMSEF WAl
60,000,000 %99.1/100 59,460




M WSt
ZH: HEDE N L DSUF ASHDSLSS/HEDS - 22SIIE
Bl NSCHEAIL &5 & 2ie) (S &)
SA - ZE - BRA(H) - NRAR - BES ofl et e HImE2
03 AIZ S THYI 2,700 1,980 720
Ousdsll | B
300,000,000& +0.72/100 2,160
Oz MsE= Wi
60,000, 0002 *0.9/100 540
HAZEAAY A= 550,000 1,170,275 N620,275
401 AIZHIX R0HH 550,000 610,275 A\60,275
01 A28l 546,535 606,431 N\59,89%6
OHAHZHHII(BIT) 2=
550,000,0008%99.37/100 546,535
03 Al 20HHI 3,465 3,844 A379
OHAZEZHDIBIT) +
550,000,000%*0.63/100 3,465
AU A 3[4 FHl 400,000 380,000 20,000
201 fet=23| 80,000 80,000 0
02 s5=34l 80,000 80,000 0
OAlUHA HFA &)
80,000,000 x 14 80,000
401 Al HIZ S 0HbI 320,000 300,000 20,000
01 AlZ8| 317,480 297,480 20,000
OAlUi A HsA 4X & IR He
150,000,000 99.28/100 148,920
OuLSAT WSS 0IBAIE M
50,000,000& *98.92/100 49,460
Os0HE 374 uwHM £ &4
100,000, 000&*99.10/100 99,100
O3t stk 28 Al A SEX WA
A A= 20,000,000 *14! 20,000
03 Al 2CHYI 2,520 2,520 0
OAUHA HRA &1 L 21K
150,000,000 +0.72/100 1,080
OusSAi HEws 0ISAIE KA
50,000,000& +1.08/100 540
Os0E 3J7A uHd & A=
100,000, 0002 *0.9/100 900
WSHMAIEE £X 200,000 400,000 A.200,000
401 AIZHIZL R0 200,000 400,000 A.200,000
01 Al&H| 198,560 397,120 198,560
OLSHEAILE &X
200,000,000&%99.28/100 198,560
03 A2 =2 THHI 1,440 2,880 21,440
OLEHEAILE &
200,000,000&+0.72/100 1,440
IR HMel WSAHHAEE | B 100,000 100,000 0
401 AlZHIZL S0 100,000 100,000
01 Al&HI 99,100 99,100




2N

chel:

nE
M. =
nE

ot
us ANE ¥ usSoHd
SHEAIE EE L 2el

SA - B - O9(3H) - HSEAIY - BES Ofl ab ot e HlmE2
ORIRXE nSoHHAEE Rl B
100,000,000&%99.1/100 99,100
03 Al& S| 900 900 0
ORI DEAHAILE SN o
100,000, 000&*0.9/100 900
AMUHYERH LM B 800,000 800,000
401 A& B2 20HY| 800,000 800,000
01 Al&HI 794,960 794,960
O Xt T B4
800,000,000+39.37/100 794,960
03 Al CHYI 5,040 5,040 0
OAUS Xt T Ha
800,000,000&*0.63/100 5,040
02l0l BES7Y tNAIdE RAES 120,000 70,000 50,000
401 A& B 20HL| 120,000 70,000 50,000
01 AlEHI 119,370 69,370 50,000
ONeglol B39 tMAIdE RAl E=
70,000,000 %99.1/100 69,370
Ostedx=sstn d2t8 &X|
50,000,000 *1IH 2 50,000
03 Al 0HYI 630 630 0
ONglol B339 AMAIEE RAI E=
70,000,000 *0.9/100 630
Hel0lES749 tdEsZ2 &4 500,000 500,000
401 AIEHIZL 208 500,000 500,000
01 Al&HI 500,000 500,000
CRAXSEN SEZ JHISAH2024E S
WAl 200,000,000& *1JH 2~ 200,000
O0EI0IES Y otMEStE T (XY E
B5)['244 SEHWEA 75,0008 2 ELEH]
150,000, 000& *1JH 4~ 150,000
ONel0IEEs 7Y otdEstz ZH (XX
B)['24d EHWEA 40,0008 3 EE]
80,000,000 *1JH A& 80,000
ONE0IES 7Y tMESIZ XM (&I
B)['24d ELEWRA 1500083 E&]
30,000,000 *1JH 2 30,000
O0el0IES 7Y AQIEECE T AX|(Alg
F)['248 SEHWEA 20,0083 E&H]
40,000,000 * 14| 40,000
AL - 38 243l(nESLEF/UELS - 2F[SIIEH 140,000 105,000 35,000
2 - I3 A2 140,000 105,000 35,000
38 #4dst NA 140,000 105,000 35,000
301 LB F 140,000 105,000 35,000
14 J|EtE A2 140,000 105,000 35,000
Ol+==g 38 28 HEBXA=
140,000,000 * 14| 140,000




2N s
I AHN2HAHI(LSH)(JIEHIIE
ool g E3y| (Sl &)
SA - B - O9(3H) - HSEAIY - BES Ofl ab ot e HlmE2
MY 2HZHI(nS) (IIEHIIEL 79,091 63,442 15,649
olE2A| 15,164 11,153 4,011
ol 23| 15,164 11,153 4,011
101 2124 d| 15,164 11,153 4,011
3 BRA(RIH)2EX24 15, 164 11,153 4,011
OAlZRI 2R
14,0402 x3H *20A| 2t 12 *150% 15,164
Jl2&l 63,927 52,289 11,638
J|=2Z| 63,927 52,289 11,638
201 B2 AY| 32,310 27,672 4,638
01 A=R2teld| 32,310 27,672 4,638
Ogt=2H| SHAA
11,104,000 & * 14! 11,104
O=4| 21,206
ozZAlHl SHA A 18,938,000 & 14 18,938
oZRE galtl
9,000 x3Z 7123 2,268
202 0441 20,817 19,817 1,000
01 =2LHO4] 20,817 19,817 1,000
O3LHoH| SHH &
18,657,000 14! 18,657
O32% ZHH0HI
20,0002 x3Z 3L 122 2,160
203 AR F&lY| 10,800 4,800 6,000
01 J|22H AR S| 6,000 0 6,000
OusEtz=% 6,000,000& 6,000
M EA2IHRFALI 4,800 4,800 0

OusSnH(28Y) 400,000& * 12 4,800




